


“You’ve gone to the finest school all right...but you know you only used to get juiced in it.”

−



inhibit human capital buildup (see for example Owen, 1995). Indeed, in our model the equilibrium



unobservable e;ort cost. Thus, degrees are imperfect signals of productivity. To enhance earnings

over autarky, workers market their labor by means of a random process that pairs everyone to

someone di;erent at every date. When two workers meet they simultaneously propose whether to

form a production partnership, interpreted as a firm. The alternative is autarkic production.

In a production partnership, skilled labor is necessary to generate surplus. Imperfections in











possession of skill. The market recognizes this possibility and forms expectations on the extent of

skill accumulation, Ps



Consequently, a planner would make everyone invest in education and skill if cd ≤ c̄. To see



earning skills and going to school if, reformulating (2) and (3),

PsGs(s) ≥ ! (8)

PsGs(s) ≥ ! + rcd. (9)

The left-hand-sides of (8)-(9) measure the market incentive to earn skill, which grows with the

number of good jobs, Ps



school unskilled, schooling decisions do depend on education costs. When cd > c̄ the net return

from education is negative, so no one goes to school. The opposite holds if education is very cheap;

if cd < c then Ps = 1



matches. However, coordinating on this outcome is di>cult because individual choices are made



which we use in discussing equilibrium existence, below. Here we note that �



Start by recalling that if cd ≤ c̄, then Ps = 1 in the social optimum. Once again, this is because

mismatched worker types generate less surplus than skilled matches. Naturally, under-investment

in skill generates social ine>ciencies.

Corollary 3. Suppose � < 1 and !꼀㄀꼀挀Ps



sequently, every student chooses



the U.S. There is evidence that employers pay little attention to grades, perhaps because of limited

informational content (Owen, 1995). For instance, Bishop (1988, 1990) argues that employers

do not rely on high-school transcripts in making hiring decisions, but simply on possession of

a diploma. Then, if letter grades are meant to measure human capital accumulation, our model

suggests that grade infl







role of education, if a su>cient population proportion is innately more productive. This e;ect

would be magnified if education had no productive role. Of course, in this pure signaling story,

the composition of skill in the economy would be invariant to policy, being una;ected by changes



The study leads also to interesting parallels about the possible role of technological change





Fernandez R. and J. Gali (1999). To Each According to...? Markets, Tournaments, and the

Matching Problem with Borrowing Constraints. Review of Economic Studies 66 (4), 799-824.





Appendix

Proof of Proposition 1.





2. Prove � ∈ {�W, 1} and (�



• Prove $ = $W and � = 1 is an equilibrium if cd < cL(�) and









<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmiDot Gain 20%)
  /Ca

